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5 EE K1 K2 P1 P2 S1 S2 BE | XDH
a 94 94 96 92 87 90 5563 13
a 93 92 94 92 93 95 559 9
b 95 92 99 94 90 91 561 17
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5 EE K1 K2 P1 P2 S1 S2 BE | XDH
a 89 84 94 92 90 92 541 9
a 93 94 96 92 95 92 562 12
b 88 96 95 97 84 92 552 9
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5 EE K1 K2 P1 P2 S1 S2 BE | XDH
a 92 90 93 91 91 91 548 13
a 93 85 95 98 94 92 557 14
b 91 93 91 93 89 89 546 8
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53 K1 K2 P1 P2 S1 S2 BR[| XDH
a 85 92 91 98 91 89 546 13
a 91 90 85 85 86 82 519 6
b 97 92 98 96 88 94 565 20
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53 K1 K2 P1 P2 S1 S2 BR[| XDH
a 82 84 90 85 78 82 501 3
a 89 91 95 96 94 95 560 15
b 91 91 88 95 90 90 545 15
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53 K1 K2 P1 P2 S1 S2 BR[| XDH
a 90 87 88 88 82 82 517 6
a 88 89 86 94 80 82 519 2
b 84 83 94 94 66 72 493 6




